ERSAROREERT —I X—RIBIST—F 2023FE58318 (K) S5E&EE2H
m B4 >R (s | memm - | g s s
[xE<%] 1 & :500,000H  23&:175,000 @  33#&:100,000 9 . 43#%&:75000 M . 53&:50,000H
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
S 6 | KMEEE 1:35.4 12-12-11-5 | 37.5 | — 4 | 478 |EEEBH (BER)
11719|PTvYS— # Aa53.0 =) (-3 |KEHE
RTFISANILE B:FyN\NLT F e
I 5 | KIEHE 1:35.9 10-10-8-1 | 38.4| -— 3 1462 | ZHES (BEE)
2 g | AEY—TIFIVT # 5.0 21/2 ) | @ yr¥rI57
RiFVVvB/FE+F B XEU—Frv S peldie]
S 5 t 4 | BAES 1:36.0 6-7-6-6 | 38.6| — 5 466 |TTFEA (BEE)
3(7[10| XM¥3VITEY * 5.0 ) o | Fr=2revay
RiXAYIVYLYY B:AN—LTAUT 4« e
® v 4 | 5 1:36.3 5-4-3-2 |39.2| - 1 473 | AHEE (BEE)
4 7 AARYVIRX 56.0 (1172 1) |DEIX
R:VEILDF— B:RAF2VLA1 LHES
Q 48 | AZHIZE 1:36.6 8-9-5-7 |39.3| - 7 | 504 |FBE (BER)
58|12l ERU2DAD O54.0 a1/ @) |[1¥9=7z-2 @
RIN—EVIv— B:YARTFr—5— BEHig
5 , €y 5 | SHEK 1:37.3 3-3-2-3 | 40.2| - 2 530 | SEfEZ (BHE)
6|8|1|IrPILIT 5.0 & o |EEES
RiYURI4 ISR B:FAROVF HHE BX
5 N s 5 | #lEse 1:37.6 9-8-7-8 | 40.2| — 10 | 449 |BUIE—AN (BEE)
715| 6| PNITARN—A 56.0 a1/2 3) H‘Iﬂfzi%
RiFvyvY /% B:T7VI—TT4A patlzsLe
w = FITI5eig : -1-1- - MTEAN (BEE)
8 4| IPANRSA 5 5 = (11317/29) 1-1-1-4 | 40.9 6 18)6 TeA
RS /IUIVTVR BEF BH it
= D — i 8 | STE 1:37.9 7-6-10-10 | 40.3| — 9 478 | BFLC (BERE)
9 2| TYADXI ¥ $54.0 ) (5 | ¥TIVT RRIAVE @)
RiFAIXTv— Bky RAY TV FPAFALT7—1L
L 6 | BlEE%E 1:38.6 11-11-12-11| 40.6 | — " 450 | PR (BEE)
0[] 3| A—HUSvY R ¥ 6 o | @)1 PN
RiNA4O0 B:TF—EIVR NYVERTP—L
o REFIER :39. -5-9- . - SEB (BEE)
1111 |7ARONT— AR ! (369)9 s ad ’ (‘?73; IVHKIES
Rib—trya—sy #:b—tvNLIV AR IRFAT7—L
_ RS . -4- _ ROBE (BHE)
1ls|s | novyI5T— w72 B e e & e
R:VIk—k 8B NUFILN—k ot HER
@ 11— —®BIEfI
13—7+— 4,5,11,1,7,10,2,12,6,8,3,9
20—7F— 4,5,11,7,1,2,10,6,12,8,3,9
30—7— 4,11,7,5,12,10,6,8,1,2,9,3
43—F— 8,7,11,4,9,10,12,6,1,2,3,5
o ILRE
B B 9 1,450 JA R 8-9 930M % 3= 6-7 350/ 3EE 8-9-10 6,960M
7B B 9 3004 9-10 1,060M4 Fs E 8-9 3,920 3EH 9-8-10 39,200/
8 2004 8-10 950/ Ba 9-8 8,990
10 2804
ABCDOVTIRHTERERRODDZ, THERAILZETL




